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11 | 12 | T13

Z21 | T22 | T23
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T11 + T2+ T3 = P1
To1 + To2 + T2z = P2
T +Ta = @1
T2+ 222 = @2
T13+T23 = G3
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N=13;

P1=12; P2=4;

Q1=2; Q2=3; Q3=11;

for (X11=0; X11<N; X11++)

for (X12=0; X12<N; X12++)

for (X13=0; X13<N; X13++)

for (X21=0; X21<N; X21++)

for (X22=0; X22<N; X22++)

for (X23=0; X23<N; X23++)

if ( (X11+X12+X13 == P1) &&

(X21+X22+X23 == P2) &&
(X11+X21 == Q1) &&
(X12+X22 Q2) &&
(X13+X23 Q3) ) {

P P A

print ([X11,X12,X13]1);
print ([X21,X22,X23]);
}
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def ptable() { N=130000000000D00CO ¥} ptableQ;

goooo.




